Topology

AcCross

2. device that i
allows multiple
computers to g 7
communicate with
each other over a
network. g
4. Local Area :
Network

6. Topology
describes the ’
arrangement of 5
systems on a
computer

7. Each node is
connected to exactly
two other nodes. Can
be visualized as a
circular configuration.

%%V\J\AAN 8. One "root" node
- . . connects to other
1. There is a direct nodes, which in turn

=

0

link to all pairs of connect to other
nodes nodes

3. Nodes are 9. One central
arranged in a line note is connected to
5. Each node is each of the other
connected to a nodes on a network.

central bus that runs
along the entire
network.
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